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General Instructions -

()

(i)
(ii)

(iv}
{v)

The question paper comprises of two Sections, A and B, You are to attempt both the
sections.

All questions are compulsory.

There is no overall choice. However, internal choice has been provided in all the five
questions of five marks category. Only one option in such questions is to be attempted.

All questions of Section-A and all questions of Section-B are to be attempted separately,
Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered in
one word or in one sentence.

Question numbers 4 to 7 in Sections-A are two marks questions. These are to be answered
in about 30 words each.

Question numbers 8 to 19 in Section-A are three marks questions. These are to be answered
in about 50 words each.

Question numbers 20 to 24 in Section-A are five marks questions, These are to be answered
in about 70 words each.

Question numbers 25 to 42 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.
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HTA-H 7 SECTION-A
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Name the device used to prevent damage to the electrical appliances and the
domestic circuit due to overloading.

wfentaE v o1 el F wym = fafad

State the main function of abscisic acid in plants.

AN % Wi e 1 T e ofk gad et st wha fafe

Name the major constituent of biogas and its approximate percentage content in it.

Trfiferm @i BRSEeE ote F wey 2w aifufwa = dafew o fafaw wa
o9 1 H faiae au sfafear & von = e

Write balanced equation for the reaction between Magnesium and hydrochloric acid.
Name the product obtained, identify the type of reaction :

st A w1 wftar S awafE A Sae i s o fage vafE e e
€ 3 A | 7o wnw gEemEn

Define ionic compounds ? lonic compounds conduct electricity only in the molten
state not in solid state. Why ?

T UH forgn 9Rue w1 siiva s foed 3 o 8, s, ON s # g0 991 UF e
Bl SR qEu oRed Y famd 4 9t gege vy & e oed %9 § a9 38 wEeE &
ol R re=iter e g

Draw a schematic diagrams of an electric circuit comprising of a 3 cells and an
electric bulb, ammeter, plug - key in the ON mode and another with same
components but with two bulbs in parallel and a voltmeter across the combination.

T e I i S 9T A, B, 31 C F at g

A LB ¢
37 9T T fated e graeE 69 () sfuead (i) geed @ g9 ow F
Trahg &9 TES ) FEaa fHE vEn e g 2

The given magnet is divided into three parts A, B, and C
At B I Cl
Name the parts where the strength of the magnetic field is :
(i) _ maximum (i)  minimum
How will density of magnetic field lines differ at these parts.
FIe! 3R oG, PRI § wE ey 9@ 9@ oan w5 9 fafEad ) 3 st fafee 5
7 g & vEm & s 0 W 81 A A et afiiEn ¥ R A
TR wifs |
Name the salts that are used in black and whiEE Bhomgraph}r_ Give reactions when

they are exposed to light. Define the ty‘;;; qu‘Elv‘-ernical reaction taking place.
U st § Hiewan ATEe w5 Fo a7 2 s - it se e
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11.
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15.

(i) T vl F meeE | w18 ofitads a7 aeeed |

(i) & e afufEn F wwr = am fates @ 58 oftafi sifsa

(iii) ¥\ walwa = TEEtE wls fafad)

A small amount of calcium oxide is taken in a beaker and water is added slowly toit.
(i) Will there be any change in temperature of the contents ? Explain.

{ii) Name and define the type of reaction taking place ?
{(iif}  Write chemical equation for the above reaction.

#  $ 3% w0 T T o g g o ¥ R O WA s s i # g 3
e F AW fated R 7% wE wa fofan) s o wEd fafed ) afEn
& wud T HwO W e Al sfufwa fate )

A white powder is added while baking breads and cakes to make them soft and
fluffy. Write the name of the powder ? Name its main ingredients ? Explain the
function of each ingredient ? Write the chemical reaction taking place when the
powder is heated during baking.

5 5 sy & = e 3
()  wifeTm TR i) it s

oo Atfire § 2uftad sEl 1 weEr wife

I!!ushaf;:jl}s fDr?Th:‘?n of bond in: 3 i hI"""'

E:::;El’lﬁf}: the 1%?1; pi?ii in these cum{;iundﬁ. 3%“1 ’ium : ‘:;rjlfgﬁ

sty =1 ufvar 3ifsd | sae S] A fafes o 38 gftnfig sifaw) 3
= feu werd %1 et wiodrasa & ufta 9 faom =73

(a) TR (i) 10764k m

(b)y  TwmE (fAum) (i) 107 to 107 @ 'm

(c)  Tomga O (iiiy 1076 to 1075 Om

Define resistance. Write the Sl unit of resistance and define it. Match the correct
range of resistivity with the matenals given.

{a) Conductors (i) 10762 m
()  Alloys (i) 102 t0 107 Qm
{c) Insulators (iii) 107% to10° 8 0m

3w 1 fom fafe o T = d fefm 5 s s e fag s s 3
fere Ry sitE oY | faverat 3R U/ & =" Eie T T 1 Y Eifen )
State Ohm’s law. Express it mathematically. Draw circuit diagram for its

experimental verification, Draw the pattern of graph between potential difference
and current.

T forawam %1 era § TwitEn oy wive g o w5 gEen e e | 3

Explain the magnetic effects of current with the help of an activity along with labelled
diagram.

ATHE YT S SaEEE vEaE 5w A 3R U aifos § gEEe S ) 3
List in tabular form three differences between aerobic respiration and anaerobic
respiration.
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(a) g

(b) igm

(© o v (ArmEs) fy g d)

MName a hormone secreted by ; )

a T il : id +*
ét}ate anzafﬁs;in of efgh of Exﬁunes. e Th?gﬂ#

SRR 1 R Ffe ) wngEd fm i § e fe v am &) v
fear ¥ fom fam smed

Define phototropism ? Explain how does it occur in plants ? Draw a diagram to .

show phamtmpism.

e aH Al S F srewmE@sl # @ s F T den gt w5 wam #J Al =
TEG? TAHRY | H91 S % 9udT § 99 Fnv dfu) der g6 ¥ 9 3@ W@
Toifiag |

Mention why is it not possible to make use of solar cells to meet all our energy needs
? State three reasons to support your answer. Also mention three uses of solar cells.

S8-Wisha 1 M fofed e gm v sl soe =1 aid § o fral o e
™ fafe® s 39 wfwm & o wbm fea s &1 Ty ==t % 2 o 5 91 wge
wFe forfiad |

Name the process by which nuclear energy is generated and also name one substance
used for it. Give two advantages and two hazards of nuclear energy.

HIH T THF GohEe FueF § Fendu fFy ver e sna 27 w9 wiEa @ ge=feaa
sl & i fofad | o oia =1 faeE sroees g ofiehes Tmitsa fag g
HHEE |

How is copper obtained from its sulphide ore ? Write balanced equations involved in
the process. Explain with the help of labelled diagram the electrolytic refining of
impure copper.

HAgar / OR

(a) == wlFEEa =t aiget & P & fo wdm =1 s = faf % am fate

(b)  UNE (WEH) % qEA o w1 AW fafEd | wwE ) ows e O Y TR Tw
T s 1 3ot Hfea vamaf g fafes )

(c) =itz sfufrn Rl wen #7 dafen Tt o g0 SagEd | 39 39 S
Tl e {91 S0 w1 wied & o e e v R o

(a) Name the method used to extract metals of high reactivity.
\@/‘ Name the main ore of mercury. How is mercury obtained from its ore ? Give
balanced chemical equations.
{c) Explain what is thermit reaction with the help of balanced equation. How is it
used to join railway tracks or cracked machine parts ?

W
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(b)

(i)

(i)

a0 YR pH WA ¥ form wE # w1 wwa ¥ o6 fafed TraRd fF =iEe
e &1 o & ¥ e e 1w s w5 Am fafed
919 g9 &1 pH TF 6 2 &1 <@ H wftaida e W EEh pH #H forel yar gfEfia
BITI? ST I AR |
w TeEen W gy § e @ At e e wm TS Agy HTE A
fafia & e g o § | ey fn T g
zeire 9 Wl o wew #t O &7 == <il =1 & Toew WeRR ek e €7
Mention the pH range within which our body works. Explain how antacids
give relief from acidity. Write the name of one such antacid.
Fresh milk has a pH of 6. How does the pH will change as it turns to
curd ? Explain your answer.
A milkman add a very small amount of baking soda to fresh milk. Why does
this milk take a longer time to set as curd ?
Mention the nature of tooth pastes. How do they prevent tooth decay ?

37eEr S OR
%ﬂﬁﬁﬂﬂﬂ%iﬁﬁﬁﬁﬁ'@fﬂﬁﬁﬂﬂﬁﬂ%aﬂigﬁmaﬁﬁﬂﬁﬂﬁﬁm
¥ fordr sodm Fear o 31 v guntE Tm o @ fafad) = fEE R
R ST &7 weEtem afafwEen = wHe fafed | &g difi & @ #7F =TN
I fafed |
i Hre S Afd dren o TEEtE g fafad )
Identify the compound of calcium which is yellowish white powder and is
used for disinfecting drinking water. Mention ifs chemical name and
formula. How is it manufactured 7 Write the chemical equation for the
reaction involved ? Also list four other uses of the compound.
Write the chemical formula of washing soda and baking soda.

et e 5 T A o A T ST, T R R (V1) W A
frmm o ¥ fEE ST W e w1 A S €7 a7 = = gfe Ffe

Iy

Vi T‘l

I

.__-.-.-pI
Wﬁﬁﬁmﬁmﬁ?mﬁﬁmﬁ?fﬁﬁﬂmwﬁm%ﬂﬂ
e o d g m €.

[(A) [05 ] 10 [ 20 | 30 | 40 |
V(Voits) | 16 | 34 | 67 | 102 | 132 |

v S 1 % e I Wit S R 1 A g Hi |
The voltage - current ( V - I) graph for a conductor at two different
temperature T; and Tz is shown. At which of the two temperatures the
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(1)

resistance of the conductor is higher ? Justify your answer.
-

1'?

—5
The values of current I flowing in a given resistor for the corresponding
values of potential difference V across the resistor are given below :
| T(A) 05 [10 ] 20 [ 30 | 40
[V(Volts) | 16 | 34 | 67 | 102 | 132

Plot a graph between V and I and calculate the resistance of the resistor.
3gar 4/ OR

3 fed o wfdl F e ) fag v S 5 go wiily 98 w7 T S
FHR Hiew G |

5141

100
P

00

| L e vt gy
1A =) {4
R e mu ufyy o ofiiwes St ¢

(a) T wialygs § wentEd ¥

(b)  dfiew 4 Ha w0

(c)  oftwa d T@ weet el

How will you convert a given set of resistors so that the equivalent resistance
is increased ? Give reason for your answer.

50t g A

/—mz;ﬂ\ i
Pt
N

—Hir——a—

In the above circuit diagram, calculate :

{a) the value of current through each resistor
(b} the total current in the circuit
(c) the total effective resistance of the circuit.

forem Sl H Y-gd AR o T e | yifeas e S foed 3w - 5
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(i) EEEA AR

(i) 2 kW 5% & 990 e F1 220V & 90 fogqm afog § Sig sma & e
SIS 5A €1 Yd 5T F 9@ W AT 1 EH Fi AW F T

(i} Explain the function of earth wire in electrical instruments ? Why is it
necessary to earth the metallic electric appliances ?

(i)  Explain the term short circuiting.

(iify An electric oven of 2 kW power rating is operated in a domestic electric

circuit (220V) that has a current rating of 5A. What result do you expect on
putting on the oven ?

31e7ar / OR
(i) OF IEagH U% TEHE 45 3 8 e o o wEe s € S fF faw A
foarn 0 &1 97 s faw fewm § wf som?  ww fraw @AM 9w e
ot oo seme =t i =1 fom Fvife 269 2
B

W

(i) o fparEey = fod g woEEd T vF unRE =eE S gEEd 89 1 1 T
T U 9 I 8 |
{i) An electron enters a magnetic field at right angles to it as shown in the figure
below. In which direction will this electron move ? Name and state the rule
applied by you in finding the direction of motion of the electron.
e

.1I.

ki

L 4

i
e

(if) Describe an activity with diagram to show that a current carrying conductor
experiences a force when placed in a magnetic field.

(a)  HFE YA 9 H 99 9R o e e = amifea S 5
(i) HHEE (ii} Hhd
(i) =TI (iv) &g
(b) T = Hi o e  fien e §2
(a) Draw a diagram of human alimentary canal and label onit:
(i) stomach (ii) liver
(iii)y  pancreas {iv)  small intestine
(b) Explain the role of bile juice in digesting food.
HIqr £ OR

(a) WA IeasE o 1 fa weRd o s e =) Tmifed i
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(i) A =fE (iv) WA
(b) WFITHFFEEIE?

(a) Draw a diagram of human excretory system and label on it :
(i) left kidney {ii) urethra
{iii}  ureter (iv)  urinary bladder

{p)  Mention the purpose of making urine ?

Y-/ / SECTION - B

B % =R WE ®1 F geRe F fFEen o A w5 Fe S e aiviEe w1 e 1
F H YIRS F * A fam man w79 A A fa aifere 96 R
o g & ool Deor o € -

| ol F1 g9 | faes = andes 1 | faead w1 i 01 | A @ s 5 e
- — — e
B | = g0 | @ wE
& e -~ Hten i s

@ A b)) B © C (@& D

Four groups of students were assigned separately the experiment of interaction of
iron nails with a solution of copper sulphate. Each group recorded the observations
as given below in the table. Which group of students recorded all the observations
correctly.

Group of | Initial colour of solution | Final colour of | Change in the
students | solution | iron nail
A Blue | Colourless | Grey coat
B Green Green Brown coat
C Blue B Blue Brown coat
D Blue . Light green | Browncoat |
(a) A (b) B {c) C (df D
fa 93 7 § 51 e w s F @ S vam e § 7 oy 1

(a) st & SorEE] o s SR famen @b % e

(b) Tamm safa % -t geEE! & a5

(c) T Seue B % Wy gy fameit st & my G5 9 geEel & T
(d) FFEe fomert @ty #1 s g a5 w8 i @)

Which of the following is a correct observation when water is added to quick
lime ?

() Vigorous bubbling and a hissing sound

(b) Slow bubbling with no sound

(c) Vigorous bubbling with evolution of heat and a hissing sound

(d) Mo change and a hissing sound
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27, o fd g Frera § pH U TR W TEE 1 Oehl @ @ T 9w fawa @ w1

(a)  ifesm TSRS

(b)  AfeTm TEEEA

(©  ©ifegw emgiEEEe R Hifead aEeEHe 1 Ha
(d) RS

On introducing a strip of pH paper in the given solution , the pH paper changed to
light red. The given solution could be of :

(&) sodium hydroxide

(b) sodium bicarbonate

(c) a mixture of sodium hydroxide and sodium bicarbonate

(d) ethaneic acid

28, Tt foremm =1 pH A 1 31 Wil fafa Frd 5 4 #m H &2 1

@ = et (b) pH 73
; = faem =1 9
p
famm W

() | bk (d) /’: T
e faer

Y
3 4-pHT pH A
meﬁq'a — ifad 2EA
The correct method to find the pH of a solution is :
@ TEST TUBE (b) pH PAPER y
VAPOURS OF
pH PAPER S v
SOLUTION
SOLUTION
TEST TUBE
(@< £)—DROPPER (@) @ SOLUTION
= TEST SOLUTION
y
3 pH PAPER E’%— — pH PAPER
GLAZED TILE — GLAZED TILE

Page 10 of 17



29. 9 3 e fa ¥ fofs =t Ofeam eegisnme & am afufrm &1 @eg 6 & - 1
Fem 2 a1 femm o € -

1
Hﬁ iz 3y % z
(@ I by 1 (¢ I (d
The figures below show set —ups for studying the reaction of zinc with sodium
hydroxide

MaOH PELLETS
In
BURNER

WNaOH PELLETS
oot — 7n
Il v

The correct set - up is

@ 1 ®) 1 (<) I d) IV

30w e 1 foru faeEe R w5 wiel ool T S R ¥ ar s dem fFm mm fE 1
forerar =1 {7 witafda & €1 wwere H o foeea €

(@) o= wehe (b)  FHH TR

c) =W HTh (d) wEEFE Hehe

Iron nails were dipped in a solution kept in a test tube. After half an hour, it was
observed that the colour of the solution had changed. The solution in the test tube
was that of :

(a) Zinc sulphate (b) Iron sulphate
(<) Copper sulphate (d)  Aluminium sulphate

31. & st A 3R B # ST () wethe 1 faea faa ¥ die A § g gEe A 1
%1 3fre B # fifer %1 7@ T gE A R fe T W URR W S TE T a9 Te 5 |
T weavii I Fehd Feren o wea € 1
(@) o H R e gad wfus frawie & oft 309 a1 e a9 dia J© ¥
() i H S o e st franite € o T A dfen oI e 9@ €
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() T H H A gad Aften Geareie § AR 9% 9 {9 o dfa o €1
(d) T T aEe ey s ramia € o w9 g o e e €
Two beakers A and B contain Iron (II) sulphate solution. In the beaker A is placed a
small piece of copper and in the beaker B is placed a small piece of zinc. It is found

that a grey deposit forms on the zinc but not on the copper. From these observations
it can be concluded that :

{a) zinc is most active metal followed by iron and copper

(b) zinc is most active metal followed by copper and then Iron
{c) Iron is most active metal followed by zinc and then copper
(d) Iron is most active metal followed by copper and then zinc

32. TEOEH 15V F 4T FEH 6V H ded I 81 e H 8 w0 o e ad 12 1
—HHH— —HHHE —HHHE R
(A) (B} © D)

&) A (b) B T (d D
A student has to connect 4 cells of 1.5 V each to form a battery of 6V. Which

arrangements is correct ?
—HHH- —JHHHE —HHRE —HHEE
(A) (B) © (D)
(B A
33. ﬁmﬁﬁaﬁvﬁwwmﬁmﬂﬁgﬂaﬁﬁﬂﬁ?ﬁﬂ?%: 1
~HF—— O
: © ®

(b} B (c) C (d) D

(iv)

(g} () () (d)  (iv)
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Identify the circuit in which the electrical components have been properly connected :

00— e
-+ g

) G

H —C) T O

L 6 ) s} o)
(iv)

(iii)
a) (i) }b}/’ (i) @ (i) (d) (i)
T Toeliendier ain Seerdiex & a¥awi 51 fufa, =9 o¢ fedt ofmy & wWo =& Fsn 1
Tﬁ?% fr fodt § fomd ¥ = AN SuEO & Y e SR SATIAHiR wRI:

(a (- 4maA, —crzv}aﬂxumﬁ,[}m
(b)  (+ 4mA, + 0.2V) 3R (2mA, 0.2V)
(€ (- 4mA, — 0.2V) 3 ( 2mA, 2V)

(d)  (+ 4mA, + 0.2V) &R (1mA, 0.1V)

The rest position of the needles in a milliammeter and voltmeter when not being used
in a crcuit are as shown in the figure. The zero - error and least count of these two
instruments are :

WM mA W

v
(a) (— 4mA, — 0.2V) and ( TmA, 0.1V) respectively
(b) (+ 4mA, + 0.2V) and ( 2mA, 0.2V) respectively
(c) (— 4mA, — 0.2V) and ( 2mA, 2V) respectively
(d)  (+ 4mA, + 0.2V) and (1mA, 0.1V) respectively
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35. ﬁqﬁaﬁﬁmﬁﬁﬁ#@aﬂgﬂuﬁﬁu-mmﬁ?mﬂﬁ?ﬁqmﬁﬁﬁﬁﬁmﬁ 1
7o 370y wftay ¥ FasmEw Ster S X, Y o z # fewm @ §

Il A1) HIlF-6—

@ Ry
- -.—i
L5

+®—

(X) () (Z)

forg oy e g8 AOF A T T E AR

(@) FEEXIHRTY (b) HAAYHRZ

(c) HawZIARX (dy TEIHE

In the experiment on finding the equivalent resistance of two resistors connected in

)

Lyt

R,
.2

parallel, three students connected the voltmeter in their circuits in the three ways X, Y
and Z shown here :

—HIlF—— G T i

+ +

® G oy ® R,

Lm \ R, | Ry
N\

=
) (¥) Z)
The voltmeter has been correctly connected in :
{a) Xand Y only (b}  YandZonly
(c) Z and X only /(HT) all the three cases

36. 99y ] SR H R, FRR, I AL : 1

®

—Hie=E—
(1)

(@) o oieed ® wwd w9 )

(b) B fedi ® it wE A

() oRmm1H uyd wuH R0 H o FE A
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(@) Ofwgn® aed wa F el H v wm A

In the circuits I and II the resistors R; and R; are connected in :

+ V)=
Pk

—IF>— Il
W) ()
&y~ Parallel in both circuits
(b) Series in both circuits
(<) Parallel in circuits [ and series in circuit 11

[
®
Fr
&)
e

(d) Parallel in circuit [1 and series in circuit |

37, eNE X Bl E NS A o U Y H W e S WM R 4 Uew 4 W w1
AT F Tt e N SR T R
(@) 3! THfeH SRV Egl | (b)  feEl § e 6 R @
(@ O s e A (d)  wiEl H ges W s S

The teacher told a student to place a potted plant in dark for 24 hours prior to an
experiment on photosynthesis. The purpose of placing it in a dark room is to :

{a) increase intake of oxygen (b} activate chloroplast in leaves
(c) destarch leaves (d)  activate the enzymes in leaves
38. o U ) Cehieid § ST %X 9 39 W AR e e s & & 9 1 afEtd 1
B T
(@)  TemE! () e (¢ AewFEn  (d) A
When a leaf is boiled in alcohol and then treated with iodine solution, its colour
changes into :
(a) pink (b) blue (<) blue - black  (d) black
39. e fom ek iy o feamn mn &) o % AwiEA & gAE FI6E 5 1

@ 1 ufrste Hife 2 fe°!
3 EX wITeh 4 FAREE

b 1 BH =hITeE 2 iy
3 ufreTHe FifvE 4 FARTEATE

e ig 2 ufsteet e
3 FARTERZ 4 g1t v

(d 1 FAREARE 2 iy
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40.

41.

432,

3. WIETHE FIETET 4. 21 TR

Given below is the diagram of stomata. Select the correct labelling for the diagram :

{a) 1 Epidermal cell, 2 Stomata,
5 Guard cell, 4. Chloroplast,
i 1 (Traned ~all - P P
3. Epidermal cell, 4. Chloroplast,
(c) 1 Stoma, 2 Epidermal cell,
3. Chloroplast, 4, Guard cell,
(d) ik Chloroplast, 2 Stoma
3 Epidermal cell, 4, Guard cell
I =7 Toee & s st e T Ty ded ¥ forg St Torem A H o e g 9w
(a)  FwIH (b)  HrEEEE =
(€ @ () mEEE e
The stain used to observe stomata while preparing temporary mount of a leaf peel is :
(a) safranin (b) methylene blue
(c) acetocarmine (d)  iodine solution
‘v § CO, ) e B ¥ T vEn ) e ¥ e uw o A sw He R L

o F g 9% YeIv il T

(@)  KOH gftr & = &1

(b) TS e H W w1 W g @ e

() T e H wa w1 W R o e

(d) T e § o ¥ w d e ofted T g o

A student sets up the apparatus for the experiment to show that CO: is re]eaqed
during respiration. After two hours she would observe :

(a) KOH turning milky

(b} Water level rising in bent tube in the beakers

(<) Water level decreasing in the bent tube

{d) No change in water level in the bent tube.

‘v B CO, T A 2 & 56 TEr § KOH %1 %M € :
(a)  ¥oHA =Gl

(by  vawd o stedter o R |

() TR ¥ SEars S w2

(d)  efa e ST @ T Co, % SEEe F

1



The function of KOH in the experimental set up to show that CO: is released during
respiration is to :

(@ enhance respiration

{b) release oxygen for respiration

(c) remove water vapour form the flask

(d) absorb CO; released by germinating seeds

~-o00o-
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